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Note: (1) Answer all questions.

Set Code :

S2

Booklet Code :

(2) Each question carries 1 mark. There are no negative marks.

(3) Answer to the questions must be enetered only on OMR Response Sheet provided
separately by completely shading with Ball Point Pen (Blue/Black), only one of
the circles 1, 2, 3 or 4 provided against each question, and which is most appropriate

to the question.

(4) The OMR Response Sheet will be invalidated if the circle is shaded using pencil

or if more than one circle is shaded against each question.
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MATHEMATICS
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it y = log (sin (cosx)), then z?_x is
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If u is a homogeneous function of order n, then :
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- The maximum value of the function : y = 2x% - 6x% — 18x + 21 is
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18.
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log (tan x)dx =
0

(1) 0 (2) 1 3) 2 (4) cot X
The arca enclosed by the curve y = f(x), X - axis and ordinates x = a and x = b is

h

b
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The volume of the solid generated by the curve y = f (x) between x = @ and x = b when

it is revolved about the X-axis is given by

h h
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The mean value of f(x) over [a, b] 18
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The root mean square value of f(x) over [a, b] is

h
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Differential equation corresponding to y=+/5x+c¢ is :

(1ipt=Sx+tec 2= — (3) w'=5 (4) w'=25

The differential equation : (y')* +5y"° =x is :

(1) linear of order | and degree 2 (2) non-linear of order 1 and degree 2
(3) linear of order 1 and degree 6 (4) non-linear of order 1 and degree 6
The differential equation : (x + x® + @v?) dx + (0% — v = bxv) dv = 0 is exact if

(1) b=a . (2) b= 2a (3) a=f.7 =3 L K= 2
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26.
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29.

Complementary function of Y'+4y=0 is :
(1) cos 2x + sin 2x (2) C,cos 2x + C, sin 2x

(3) C, cos x + C, sinx (4) C, cos 4x + C, sin 4x

Integrating factor of differential equation : X2y =3x" =2xp+1 is :

1 1
(1) x ) - B) 72 (4) x*

Particular integral of (D> + 4) y = cos 2x is :

sin 2x cos2x xsin2x xcos2x
. @) == ) = @ —
cos® sin®
IfA = - , then AAT is
‘| —sin® cosO |-
(1) 0 (2) A GBra" 4 1

- | 1 1
The determinant of the matrix | a b ¢ | is:

PR
(1) 0 : (2) 1
(3) (@a+b)y(b+c)(cta) (4) (a-Db) (b-c)(c—a)
2. =l
IfA=|x 0 2| is singular matrix then x is equal to :
i a0
(1) o 2) 1 (3) 2 (4) 5
a=ih ¢
The determinant of the matrix |b ¢ a| is
' ci<a'b
(1) 0 ; (2) 1
(3) 3abc +a*+ b+ ¢* (4) 3abc-a*-b*-¢

Using Cramer's rule, the x value from the equations
x+y+z=9;2x+5y+7z2=52;2x+y-z=0;is:

(1) 0 @) 1 (3) 2 @ 3
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x-1°
Partial fractions of \ﬁa is
(x=2)(x-3)

2 1 1 1 2 2 2
b5 x—3+.\‘—2 (<) .r—3+}——5 () .\'—3+,\'—2 4) =3 a2
If A+ B + C = 90" then tanA tanB + tanB tanC + tanC tanA is equal to :
(10 (2) 1 (3) 2 (4) 3
If x+%:2c050 then .\‘:+X—12 is :
(1) 4 cos?8 = (2) 4 cos 26 (3) 2 cos 0 (4) 2 cos20
IfA+ B+ C =180 then sin2A + sin2B + sin2C is equal to :
(1) sin2A sin 2B sin2( (2) sinA sinB sinC
(3) 4sin2A sin2B sin2C (4) 4 sinA sinB sinC
Iftan"'x + tan”'y + tan”'z = @, then x + y + z is equal to :
(1) 0 21 3) xyz 4) x-y-z

The general solution of tan’0 = 3 is :
(1) nn (2) nm £ (n/3) (3) nn/3 -4 =©

sinA  sinB  sinC
+ +

In any triangle ABC, if R is a circum radius, then the value of 7 i is
7 1 (&5

1) = 2 2 3 o 4 x

b 2l Ehs el

If a. b, ¢ are the sides of the triangle. then the angle A can be obtained by cosA =
" @ th 4o 2 b et 3) ar bt o @) —-a* +b* +¢?

( 2bc - 2be ¢ 2bc “ 2bc

(cosh x + sinh x)" is equal to

(1) cos nhx + sin nhx {2) cos” hx + sin” hx

(3) cosh’x + sinh” x (4) cosh nx + sinh nx

(cos ‘9 + 7 sin 0)" is equal to
(1) cos” O +isin” 0O (2) cos®” + i sin®”

(3) cos O +isin 6O (4) cos nB + i sin nd

If z = (cos O + i sin ), then z* +L3 is equal to

(1) cos® 0 (2) cos 36 (3) 2 cos’ 0O (4) 2 cos 30
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If y = x + ¢ is a tangent to the circle x? + y* = 8, then ¢ is equal to

(1) 4 (2) +4 (3) 8
The vertex of the parabola y* — 4y + 6x — 8 = 0 is
() (2, 2) (2) (4. 4) (3) (6.6)

B

The eccentricity of the ellipse —_—+h— =1;a>b: 18
a

(1) _____M (2) ___“a—__b- (3) L/E_,‘Z'_

a a h

2 2

X ! -
The foci of the hyperbola —<— 'b: =l(a>b)is
a

(1) (a, b)

Lt Ll +lj =
N X

(l) 0",.

(2) (£ ae, 0) (3) (0, 0)

(2) 1 (3) e;

(1) 0 (2) 1 (3) e

(1) 0 (2) 1 (3) log(ab)

(4) £8

(4) (8. 8)

()

(4) (0, = be)

(4) x

(4) x

(4) log(a/b)
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ANSWERS s
1) 4 2) 3 3) 3 4) 3 5) 3
6) 2 7 2 8) 4 9) 2 10) 2
1y 2 12) 3 13) 3 14) 3 is) 3
16) 3 17) 1 18) 2 19) 3 20) 2
21) 3 22) 4 23) 2 24) 2 28y 2
26) 4 371 3 28) 4 26) 4 30) 4
31) 4 32) 2 33) 4 34) 2 3% 4
36) 4 37) 3 38) 2 ' 39) 4 40) 4
41) 4 42) 4 43) 4 44) 2 45) 1
46) 2 47) 2 48) 3 49) 2 50) 4




